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SECTION- A
i) General Awareness

Which of the following is not a 6. The strongest among the Maratha
Government-sponsored organization 7 kings was
(A) Small Industries Development {A) Chatrapathi Shivaji
Bank of India (B) Balaji Vishwanath
(B) NABARD (C) Balaji Baji Rao
(C) National Housing Bank (D) Chatrapathi Shahuj
(D) 1CIC| Bank
- 7. Which of the following is the largest
Which of the following planets is planet of our solar system ?
nearest to the earth ? (A} Earth
(A) ~Jupiter (B) Satum
(B} 'Merclny (C) Jupiter
(©) Mard (D) Uranus
(D) Venus
o 8. The Language of the discourses of
Euc.idhism hgcame the state religion Gautarna Buddhs was
during the reign e_f (&) Bhoipit
(A} Chandragupta Mourya ®) Magadh
(B) Ashoka _ 3
(Cy} Samudragupta Uy gl .
(D) Kumaragupta -1 (R Sanskil
Name the type of activity that & WhatJ 8. Dunlopinvemad
Mary Kom specializes or excels in (A) Model airplanes
(A) Tennis (B) Inkpen
(B) Boxing (C) Gun
(C) Wrestling (O)  Pneumatic rubber tire
(B Shaosng 10, Which of the foliowing is the oldest
Capital of Greece is dynasty ?
(A) Athens (A) Chalukyas
(B} Prague (B) Cholas .
(C) ng.gia (C) Pallavas
(D) Budapest (D) Satavahanas
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11. Capital of Burma is 16. Krishna Devaraya, the 181 century
(A} Shillong ruler of Vi]aya;!agar kingdnlz:n, was a
(B) Karachi greal patron o iterature.
: (A) Telugu
(C) Rangoon (B) Tami
| (D) Dhaka (C) Kannada
| -
12. A situation of monopaly in the market (D) Hindi
r refersio 17. The Vice-President of the Indian |
[ (A) One seller, one buyer Union is elected by the
P (B) Many sellers, one buyer (A) Members of Rajya Sabha
v (C) Many sellers, many buyers (B} Members of Lok Sabha
(D) One seller, many buyers (C) Members of both the Houses of
| Parliament |
| 13. Which §undamental Right of the (D) Members of Parliament and the
| Indian Constitution prohibits traffic in Members of State Legisiatures :

| human beings ? y ) |
X _ 18. Who was the Chairman of the Drafting
(A) Right to equality :

Committee of the Constituent Assembly 7

(B) Hight-againstemmi‘taﬁcn (A} B.R. Ambedkar |
(C) Rightto freedom (B) C.D.Deshmukh
(D) None of the above (C) K. M. Munshi :

) (D) T.T.Krishnamachati
14. Two persons are nominated by the

President to be members of 19. The joint sitting of the Parliament is
i Lok Sabha to represent the presided over by the

(A) Anglo Indians (A) Prime Minister of India

(B) Indian Christians (B) President of India

(C) Chairman of the Rajya Sabha

(C) Buddhisis
(D) Speaker of the Lok Sabha

= (D) Parsis
20. Who is the Supreme Commander of

15, The Prime Minister is the Chairman of ihe Armad Forees i Ifidia 2

(A) Planning Commission (A) Prime Minister
(B) Union Public Service Commission (B) Defence Minister
(C) Finance Commission (C) President
(D) Minorities Commission (D) Home Minister

| A B-
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ii) General Intelligence and Reasoning Ability

Find the correct aliernative for the
guestion mark :

2,8,8:63,7

(A) 1038

(B) 1998

(C) 3008

(D) 3968

What should come next in the
following number series ?
g7318642975318645753
864875

(A) B ¢

(B) 3

(C) 6

(D) 4

‘DIVE’ is related 1o 'EIVD' and
‘SOUL’ is related to 'LIUS in the
same way as ‘FEAR' is related to
(A) AERF

(B) AFRE

(C) RFAE

(D) REAF

In a class of 50 students, 18 take
Chorus, 26 take Band and 2 take
Chorus and Band. How many
students in the class are not
enrolled in either Chorus or Band 7

(A) 12
(B) 8
(C) 10
(D} &

25.

28,

27.

28.

29.

‘12" isrelated to '36" in the same way
as 17" isrelated to

(A) 51 (B) 34

(C) 68 (D) 83

A man had returned after aday's bird -
shooting. He was asked how many
birds he hadin the bag. He said “they
are all sparrows but six ; all pigecns
but six and all doves but six", how
many birds had he in all 7

(A) 18 (B) 9

(C) 27 (D) 36

I am sixth in the queue from either end.
How many people are there in the
queus ?

(A) 13 @) 12

€y 11 (D) 10

if Gopal runs slower than Krishna and
Krishna runs as fast but not faster than
Hargobind, then does Hargobind run
faster or slower than Gopal 7

(A} Slower

(B) Equal

(C) Same

(D) Faster

A shepherd had 17 sheep. All but nine
died. How many did he have left 7

(A) 9 (B) 8

(C} 12 (D) 7
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31.

3z.

33:

34.

35.

White the next number in the series .

14,16, 14, 17,12, 18, 11, .....
(A) 12 (B) 19

(C) 22 (D) 14

Find the correct alternative for the
guestion mark :
3.8.5,20,7,42,9,7
(A) 72

(C) 80

(B)
(D)

54
66

f62+51=16.91+85=24,53+82=12,
72 +88=25then73+83=7

(A) 4 (B) 20

(C) 15 (D) 37

Find the wrang number in the series
69, 55, 26,13, 5

(A) 55 (B) 26

(C) 13 (D) 5

{6 x2=818x4=422x2=11,
BxB5=33then8 =« 8=7

(A) 33 (B) 43

(C}) 14 0y 42
Answer ina short cut methad (899)2
(A) 19,848

(B) 1,08,431

(C) 83670

(D) 9,98,001

36.

37.

38.

39.

40.
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IfA =2, B=3,C=4andsoon, what
does the following number stand for 7 |
14,2, 11,16, 19 ,

(A) NBKNS J

(B) KLEVE
(C) MAJOR i
(D) TEACH .

Insert the missing number :
8 5 3 10
7 5} 6 v
14 B 9 ?
(A)
(B)
(C)
(D)

24, 72,36, 108, 54,1862,
(A) B3
(B) 227
(C) 243
(D) 81

2,5,4,9,8 14, ...
(A) 14
(B) 27
(C) 81
(D) B86

Insert the missing letter :
D,K.GN—-QMT
(A) K

(B) J

(C) P

(D) O
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iif) Arithmetical and Numerical Ability

Represent 0.32 into percentage.

(A) 0.032%

(B} 0.32%
(©) 32%
(D) 3.2%

When 75% of a number is added to
75 it results in the number itself; the
number is

(A) 300
(B) 200
(C) 240
(D) 480

A sum of Rs. 600 was lent for two
years al 2% compound interest. The
interest fortwo years will be

(A) Rs. 20
(B) Rs.25

(C) Rs.50.20
(D) Rs.20.20

9/16 of a number is 51 greater than
‘B0% of the number, then, that number is

(A) 832
(B) 704
(C) 980
(D) 816

(72 % 72—-70 % 70) = 142

(A) 1
(B) 2
(C) 142
by O

46.

47.

48,

49,

7 pens and 5 pencils cost Rs. 16.90.
Had itbeen a purchase of 5 pensand
7 pencils, the expense would have
been Rs. 2.60 less. If 50, a pen cosis

(A) Rs.1.65
(B) Rs.2.25
(C) Rs.1.95
(D) Rs.2.15

The value of

8025 % 103+ (56 + 47) x 19758
(A) 80,25,000

(B) 18.31.025

(C) 10,30,000

(D} 10,30,725

The surface area of rectangular
parallelepiped with length 5 m,
breadth 4 m, height 3mis

(A) 80sqg.m.

(B) 70sg.m.

(C) 94sq.m.

(D) 84sg.m.

To a certain number 6 |s added. The
éum is multiplied by 6 and the product
is divided by 13.7 is subtracted from
the quotient. If the remainder be 5, the
number is |

(A) 30

(B) 35

(C) 20

(D) 15
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50 The sum of two numbers is 21 and

their product is 90. Find the two

numbers.
(A) 15,15
(B) 15,12

(C) 15,6
(B) 20,15

51, 4+4.444+44.4+4.04 +444=7
(A) 500.88
(B) 577.2
(C) 495.22
(D) 47288

52, The %otal number of students in a
school Is 4800, out of which 60% are
girls, What is the total number of boys
in this school 7

(A) 1980
(8) 1910
(C) 1920
(D) 1930

53 Find the simplest number which is
divisible by 12, 15, 20 and is a periect
sguare.

(A) 400
(B) 800
(C) 1000
(D) 180

54. Find the least number which when
divided by &, 9, 12 and 15, leaves the
remainder 1.

(A) 359
(B} 181
(Cy 178
(D) 361

55.

58.

&87.

58.

53
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Divide 1200 in the ratioof 1:2: 3.
(A) 300,350,450
(B) 200,400, 600
(C) 300,400, 500
(D) 1E}'ﬂ,52|5G. 850

11 | buy a radio for Rs. 300 and sell it
for Bs. 330, my gain percentage is
(A) 8%

(B) 10%

(C) 15%

(D) 20%

An umbrella marked at Rs. 80 is
sald for Rs. 88. What is the rate of
discount ?

[:A'J 15%
(B) 17%
(C) 18%
(D) 20%

A train 250 meters long passes a pole
in 12 seconds. Then the speed of train
is

{A) 28 km/hour

(B) 68 km/hour

(C) 72 km/hour

(D) 75 km/hour

7854 + 286 + 8514 + 78 ="
(A) 15782
(B) 14782
(C) 18832
(D) 16732

5826 + 2694 + 7 + 384 = 12437
(A) 2533
(B) 1533
(C) 3533
(D) 4533
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iv) Test of Language : Hindi
erra gfteror : fEwd

‘wifg " - o agEE B8
(A) gl

(B) =ATg

(c) gl

(D) e e B

(C) e

oTes 1 Y8 B R
(A) ST

(C) et

66.

67.

68.

B69.

70.

‘el BAdeEm
(A) T T TR

(8) wEEE R

(C) TEER

(D) & T

Tt 1 WIEETEH 61 E ©
(A) TR
(B) TR
(C) Fwa
(D) T

THETE

(A) sferfie
(B) UwiRes
(C) T
(D) T
Frat w1 TeT 14 2
(A) TR

(B) fae=

(C) Teouit

(D) =1

el =1 TTerd e B

(A) W
@) TeEafEwed -

(C) T =1 SR
(D) ST = Bt
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71.

00 F1 FEd &
(&) !
(B) Toma

" (C) HeIUH

72.

73.

74.

75

A

(D) T3Hd

et En

(A T e ws T R |
(B) a3 03 % v |
(©) Tt ¥ ug %o v 6 |
(D) ﬁaﬁr%@@mﬁﬁmi

eI w0

(A) F9h TE TR AR |
(B) I TEEEA WAIE |
(C) 3 I SgT TS |
(D) 9% TR SEA A 2 |

o + N - e
(A) a9
(B) =
(C) =S

(D) T

ﬁ+ﬁ3ﬁﬁﬁ¢ﬁﬁ%
(A) =
(B) 3,
(C) =T
(D)

_ Bl

7=

78.

Tr.

78.

18,

80.
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ST E I .’
(A)
(B)
(C)
(D)

Fi @ Efiferm e @
(A THEET
(B) T
(C) FFEH
(D) =i

1Tt 1 I EER
(A) 3Teid fom g
(B) = &
(C) =7aT 3T ST
(D) dr@Erer

FEVE HTH T
HHS FHAT

£ H "t
STTHTSTETOT  2R18 o]

gl 1 3 fom w9 2 1
(A) =gl
(B) i |
(C) @4 "
(D) =sfean

E AT

(&) wra ot gafeE @ gant | |
(B) Hiem T mafedl i gern |

(C)  Hiar st e = ga |

(D) HeT eret Rl =R ge |
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v) Test of Language : English:
B R i e D
A boat ____downwithallthe | 86. He __herforaiong time
passenger on board. before he finally married her.
(A) sunk (A)  knows
(B) sinks (B) will know .
(C) sank (C) will have known
(D) sinking (D) had known

The same song for two times.
(A) singing

(B) 'sung

(C) ‘s_lngeﬂi

(D) sings

When | reached the station the train

(A) leaves
(B) had left
(C) left

(D} leave

Meena
(A)  wanted
{B) wanting
(C) wanis

(D) is wanted

ta gowith her friends.

I hirm very well.
(A)  known

(B} knows

(C) know

(D) knowing

g87.

88.

89,

90,

He will win the race if he
running regularly. .

(A) practices

(B) practice

(C) will practice

(D) will be practiced

It mare teams withdraw, the
tournament

(A) may have to be cancelled
(B) will have been cancelled
(C) will have cancelled

(D) would cancel

"This is first time | a

typewriter,
(A) ever had used

(B) will ever use

(C) have ever been using
(D) have ever used

| wish | it..
(A) will break
(B) would have broken-

(C) should have broken
(D) had broken
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93.

94.

ga.
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It is time that we
something useful.

(A) maydo
(B) did

(C) should have been done
(D) could have been done
You have done very well

(A) haven'tyou ?

(B) haveyou ?

(C) isn'tit?

(D) isit?

L
Does your father know

in English ?

(A) thatwhy you failed

(B) why you failed

(C) did you fail

(DY why have you been failed

Last year he told his wife that
bad manners.

(A) | hate you for your

(B) | have been hating you for your

(C) He hated her for her
)

(D) He was hating her

He would not written this if he
the news.

(A) would not hear

(B) waould not have heard
(C) had not been heard
(D) had not heard

g6,

g7.

g8.

99.

100.

19«
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I am getting nervous; my brother
p— __his work by now.

(A) should have been finished

(B) should have finished

(C) should be finishing

(D) should be finished

The chiel wanted tolknnw _
done the job.

(A} how | had

(B) haw had |

(C) thathow had |

() howwould | have

Heis
(A) obsessed
(B) like

(Cy love

(D) wants

with stamp collection.

Flood has

(A) taken

(B) demanded
(C) claimed
(D) asked

10 lives.,

I must my luggage and

leave for station.
(A} pack
(B
(
(

-—

tag
C
D) bind

tie

Bt
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Post Specific Subjeci-Related Questions

'Leprc:-sy 1s also called
(A) Hartmann's disease
(B) Hansen's disease
(C) Humprey's disease
(D) Harry's disease

Which is a typical feature associated
with skin patches caused due to
leprosy 7

(A) Loss of sensation over the affected

4 skin

(B) Skin over the affected areas
appears very dark

(C) Extreme pain over the affected
skin

(D) MNone of the above

Which of the following is an example
of a Specific Learning Disability 7

(A) Mental Retardation

(B) Dyslexia

(C} ADHD

(D} Autistic Spectrum disorders

Which of the following is an example:
of an intellectual disability ?

(A} Mental Retardation

(B) Dyslexia

(C) ADHD

(D) Autistic Spectrum disorders

105.

108.

107.

108.

Learning depends on cognitive
development

(A) Always
(B) Sometimes
(C) Never

(D} In calculation

An example of an Development
Disorder is

(A) Mental Retardation

(B) Dyslexia

(C) ADHD

(D) Autistic Spectrum disorders

In learning disabiiities, the name for
mathemalical disorder is

(A) Dyspraxia
(B) Dyslexia
(C) Dyscalculia
(D) Dysphasia

Which of the following may occur in
Expressive Language Disorder 7

(A) Limited amount of speech

(B) Difficulty learning new words
(C)} Difficutty finding the right word
(D) All of the above
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110.

111.

112,

Ax

Which of the following is NOT a
physical cause often associated with
Phonological Disorder 7

(A) A hearing impairment
(B) Cleft palate

(C) Small frontal lobes
(D) Cerebral palsy

Which of the following is a technique
used to address stuttering 7

(A) Purposeful speech
(B) Practical speech
(C) 4elayed speech
(D) Prolonged speech

Which of the following criteria can

be used to define intellectual

disabilities 7

(A) Significantly below average
intellectual functioning

(B) Impairments in adaptive
functioning generally

(C} These deficits should be manifest
before the age of 18— years

(D) All of the above

The following are characteristic of
autism except

(A) Onset after 6 years of age
(B) Repetitive behaviour
(C) Delayed language development

(D) Severe deficit in social interaction

113

114.

115.

29,
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What is a hidden disability 7

(A) Someone who is feariul of going
outside of their house

(B) A disability that |s not obvious by
looking at someone

(C) There are no hidden disability
(D) Both (A) and (B)

‘Which of the following is an example

of a hidden disability ?
(A)  Autism

(B) ADHD

(C) Bipolar

(D) Al of the above

It you cannot understand someone
with @ communication impairment

(A) do not ask the person fo repeat
what they had said, because you
might offend them:.

(B) just pretend you understood them
and hope you guessed what they
said.

(C) politely ask the person to repeat
what was said and repeat it back
to make sure what you thought
was said |s correct. )

(D) none of the above




116.

117.

118.

118.

B+

If you find a student wearing some
odd dress in your class, you will

(A) Ask the student not to attend the
class

(B) Make a joke on him

(C) Counsel him not to wear such
clothes in a class

(D) Not give any attention

The raw material of thinking Is
{A) Symbols
(B) Semantics
(C) Man
(D) Child
4

The most importani guality of an
effective teacher is

(A) Deep knowledge about the subject
taught

(B) A strict disciplinarian

{C} Good rapport with students

(D} A good motivator

A girl student shows talent and
interest in science but her parents
are pushing her to take humanities
stream. What advice would you
suggest to the girl 7

(A) Talisten to her parents

(B) To be focused on her favourite
subjects

(C) Talk to her parents and point out
her talent

(D) Encourage her to try for
scholarship; so that she can
study the subject of her interest

120.

121.

122.

123.

g4
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Sign of creative child is her/his
(A) Intelligence

(B) Good behaviour

(C) Creativity

(D) Good memory

Mast psychologists believe that

development is due
(A) Largely to nature

(B) Largelytonuriure

(C) Tonature and nurture acting
separately

(D) Toan interaction of nature and
riurture

Frobel's most important contribution
to education was his development of
the

(A} Vocational Schools
(B) Public High Schoal
(C) Kindergarten
(D) Latin School

A major strength of ecological theory
15 Its framework for explaining

(A) Envirenmental influences on
development

(B) Biological influences on
development

{C) Cognitive development

(D) Affective processes in
development
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124,

1256,

126.

127.

Absenteeism can be tackled by
(A)
(B)
(C)
(D)

Punishing the students
Giving the sweets
Teaching

Contacting the parents

If an girl child does notcorner to
school regularly you will

No bother
Struck off her name
Complain to the Principal

Meet the parents and encourage
them

In co-education you won't

(A) Make separate raws of hoys and
girls

(B) You give preference to boys aver
qirls |

(C) You give preference 1o none

{D) You deal according toned

One of the basic principles of
socializing individuals is

(A) Religion
Caste
Education

Imitation

128,

129.

130.

13T,

-26-
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Good reading aims at developing

(A)  Understanding

(B) Fronunciation
(C) Sensitivity
(D) Increase tactual knowledge

Nature of children are like

(A) Imitative
(B) Constructive
(C) Imaginative

(D) Destructive

How does a teacher can improve the
attention of a student 7

(A)
(B)

By self monitaring

Monitoring by head master/
Principal

()
(D)

By observation

By introducing interesting ways
of teaching

A group of students are found to be
harassing another student, What
should be your reaction ?

(A)
1B)
(C)
(D)

Punish the students
Send to their parents
Counsel the students individually

Give them severe warning




————

132.

133.

134.

136

What is the unit of heredity 7
(A) Chromosome

(B) Gene

(C) Fertilized cell

(D} Zygote

Srallest unit of meaning in a
language is

(A) Syntax

(B) Morpheme
1[1‘:3}‘I Pragmatics
(D) Phoneme

A child of 16 years scores 75 in an IQ
test; his mental age will be
years.

(A) 12
(B) 8
(C) 14
(D) 15

Vygotsky theory implies

(A) Child will learn best in the
company of children having 1Q
lesser than his/her own

(B) Collaborative problem solving

(C) Individual assignments to each
other

(D) After initial explanation, do not
support a child in solving difficuit
questions

PB-
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137,

138.
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Gifted students are

(A) Non-assertive of their needs
(B) Independent in their judgement
(C) Independent of teacher

(D) Introvertin nature

Which of the following is an exampie
of a fine motor skill 7

(Ay Climbing
(B) Hopping
(C) Running

(D) Writing

Successful inclusion requires the

following except

{A) Involvement of parents
(B) Capacity building

(C) Sensitization

(D) Segregation

Whao is the father of genetic
epistemology ?

(A) Piaget

(B) Bruner .
(C} Vygotsky

(D) Dewey




140. The besiplace of social development
fora 12 years old child is

(A) Neighbourhood
(B) Family

(C) Playground

(D) School

141, The period of sensory motor
adaptation of Piaget is

(A) " 0-2 years
(B) 1-3years
(C) 3-Byears

(D) 4-6years

142. This is an instructional material fora

teacher

(A) Workbooks

(B) Supplementary material
(C) Atlas

(D) Curriculum guides

143. The activity techniqué is
(A) Class-centred
(B) Subject-centred
(C) Student-centred
(D) Teacher-centred

A+
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A normal child of 12 years is most
likely to

(A) Have difficulty with gross motar
coordination

(E] Have feelings of anxiety aboul]
pleasing adults -

(C) Confine his/her Interests to here
and now

(D) Beeager for peer approval

What is called education acquired
without any specific purpose. fixed
peried and place 7

(A) Indirect Education
(B) Individual Education
(C) Informal Education
(D) Formal Education

What is the compulsory element of
learning ?

(A) Ability to read

(B} Bright mind

(C)} Tendency to know
(D) None of these

Why are curriculum activities used in
teaching 7

(A) Make teaching easy

(B) To make teaching interesting,
gasy to understand and effective

(C) To make teaching attractive

(D) To assistthe teacher
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149.

150.

151,

B

What is teaching through deductive
methad ?

(A) From general o specific
(B) From specific to general
(C) From macro o micro

(D) From easy to difficult

Which one of the following education
systems supports scientific progress ?

(A) Realistic Education
(B) Idealistic Education
(C) Naturalistic Education

(D) None of these

How the studenis should be
motivated to get success in life ?

(A) Elected study
(B) Incidental study
(C) Intensive study

(D) Learning by recitation

Which system of education was
propounded by Mahatma Gandhi ?

(A) Teaching by activities
(By Teaching through music

(C) Teaching through listening,

meditation etc.

(D} All of these

152.

153.

-32-
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Who said, “Reverse the usual practice
and you will almost always do
right 7"

(A) Mahatma Gandhi

(B) Rousseau

(C) Dewey

(D) Plato

Which Is not Naturalism's aim of
Education ?

(A) Education is the notion of man's.
evelution from lower forms of life

(B) To equip the individual or the
nation forthe struggle for existence
50 as to ensure survival

(C) To help the pupils to learn to be in
harmony with and well-adapted 10
their surroundings

(D) To inculcate ethical and moral
values in the pupils

Which is not the nature of philosophy 7
(A) Itis ascience of knowledge

(B) It is a collective ensemble o
various viewpoints
(C) Iiisa planned attempt on seard
for the truth

(D) It is the totality of man’s creati
ideas
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. 155, On what is based the need for 158.  Which of the following is not criticised
f teaching philosophy of education ? by realism in education ?
(&) ANBUEIS RS ot dlike (A) Teachers denying the value of
school co-curricular activities
(B) Different systems of education ) i _
(B) Pupils cramming for knowledge
found in different countries T
from baoks for reproducng in
(C) Different philosophies expressed examination
different points of view on every (C) Organizing schools in a way tha
aspect of education Is conducive to practical training in
(D) Different ways of teaching- SRleRaR
lsarning (B) Teaching which drifts away from
. life of the child
156. Which among the following does not
. _ 159, What is development of human
fit into the scheme of educational o _ ,
potentialities in education 7
goals of the |dealists 7
(A) Individual aim
A) Care of bod .
A 4 (B) Social aim
(B) Moral values (C) Individual as well as social aim
(C) Skills (D) Specific aim
(D) Self-expression
160. Preparing the child for future life as
157. Religious education is strongly an aim of education is preparing child
for
advocated by
(A) Some suitable vocation
(A)  Pragmatists _
(B) Some particular course of study
(B) |dealists N
(C) Facing all kinds of emergencies
(C) Realist and situafions of future life
(D) Existentialists (D) A happy married life
A* -34-
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164,

In the context of education,
socialization means

(A) creating one’s own social norms
(B) respecting elders in society

(C) adapiing and adjusting to saocial
environment

(D) always following social norms

Vygetsky emphasized the
significance of the role played by
which of the following factors In the
learning of children ?

(A) Hereditary
{E‘i Moral

(C) Physical
(D) Social

When a child with a disability first
comes to schoal, the teacher should

(A) refer child to a special school
according o the disability

(B) seciude him from other students

{C) discuss with the child's parents to
evolve collaborative plans

(D) conductan admission test

Error of learners often indicate
(A) how they learn

{B) the need for mechanical drill
(C) absence of learning

(D) saocio-economic status of the
learners

165.

1686.

187Y.
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Current understanding of the concept
of mental retardation in psychiatry
does not

(A) Etiological understanding of
intelligence and its impairment
(B) Assessment methods and

management of for associated
comorbidity

(C) Not clinically recognized as :
developmental disorder

(B) Needs to meet criteria of
impairment and dysfunction to
be called disorder

People with mild mental retardation
usually

(A) Do not develop speech

(B) Cannot engage in clinical
interview

(C) Cannotachieve full independence!

(D)  Main difficulties are with regard tof
academic school work

People with moderate mental
retardation usually have

(A) Limited language and
camprehenston skills

(B) Self-care and motorskills are goot

(C) They cannot learn the basic skills]
of reading, writing or countinig

(D) As adults cannot do simple
struclured practical work




168.

169.

170.

In People with severe mental
retardation

(A) The cause Is unlikely to be of
arganic efiology

(B) Often do not have motor
impairment ar other
neuropsychiatric sequelae

(C) Have good academic achievement

(D) Clinical picture is similarto
moderate mental retardation

Psychopathology in mental
retardation

(A) Can vary depending on the
cognitive and intellectual ability

(B) Can vary depending on the level
of communication

(C) Observation and information from
carer is.an important diagnostic
necessity

(D) Allthe above

People with leaming disability

(&) Cannot have savere impalirments
in one particular area

(B) Cannot have a particular area of
higher skill

(C) Can have severe impairments in
one area and particular areas of
higher skill

(D) All of the above

171.

172.

173.

174.

2,
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Which from the following is NOT an
infarmal assessment 7

(A) Assignment
(B) Observation
(C) Rating scales
(D) Discussion

— includes data concerning
family background and educational
development.

(A) Case study

(B) General behaviour
(C) Genetic approach
(D) Adequacy

For growth of children some parents.
and teachers were over concerned
about providing

conditions.

(A} Cerlain

(B} Fundamenially
(C) Powerful

(D} Healthful

A quantitative description of
experienced data is
a measurement,

(A) Simply

(B} Particularly .
(C) Individually

(D) None of these
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178.
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To read the lesson before teaching it
is called

(A) Measuremertt
(B) Teaching practice
(C) Preparation

(D) Lesson plan

Teaching should aim at

(A) enhancing children's natural
desire and strategies to learn

(B) reading the lessons in the text book

(C) ‘giving class work, homewaork.
project work and conducting tesis

(D) baoth (B) and (C) given above

Children learn through

(A) experience. experimentation,
making and deing things etc.

(B reading, discussion, listening,
thinking and reflecting etc.

(C) expressing oneself in speech;
writing etc.

(D) all the above

Learning takes place
(A) inthe school
(B) outside the school

(C) both within and outside the school

(D) only in the classroom

174.

180.

181

182.
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“The ability to make a set of questions
for a given answer is a valid test of
learning”.

(A) Agree
(B) Disagree
(C) Strongly disagree

(D) Children can't make [ frame
guestions

Curriculum is a
(A) atextbook

(B) abockofdo’s and don'ts for
teachers

(C) aprogramme of study

{'D) a book of intelligent criticism

Understanding and use of language(s)
enables the child to

(A) make connections between ideag|
(B) people and things

(C) relate to theworld around them
(D) allof these

The view that “adjustment differs from
maladjustment in degree rather than
in kind” is psychologically

(A) Correct

(B) Incorrect
(C) Correct sometimes
(D) Incorrect in certain situation




183.

184.

185

186.

A

Which may not be a symptom of
maladjustment 7

(A} Nail biting

(B) Daydreaming
(C) Selfishness

(D) Excessive reading for vicarious
excitement

Which is not included in the special
provisions for dealing with the gifted
children 7

(A) Acceleration
(B) Adaptation or enrichment
() ABiity grouping

(D) Schemes of special scholarships
and awards

For dealing with the gifted child which
is the most realistic and practicable
approach

(A) Enrichment alone

(B) Acceleration alone

(C) Segregation

(D) A combination of all these

Which is a more adequate definition
of the exceptional child ?

(A) He is intellectually very superior
(B) He is emotionally undeveloped

(C) He is socially much different from
othears

(D) He is one who deviates from the
narmal child in mental, physical
and social characteristics to sueh
an extent that he requires a
modification of school practices

187,

68

184.

180.
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A gifted child s never defined as one
(A) Whose IQ is 140 or above

(B) Whose performance is consistently
remarkable in music, art, social
leadership and other forms of
expression

(C) Whose ability is within the range
of the upper two per cent to three
per cent of the population

(D) Who is extremely different trom
others of his age

The determinants of personality are
(A) Social

(B} Cultural

(C) Bioclogical

(D) All of these

Wherever thereis g barrier, therg is
(A) Frustration

(B Conflict

(C) Mental iliness

(D) None of these

A conflict means or implies
(A) Disorganisation of behaviour
(B) Incompetence

(C) Incomparability in metives and for.
goals

(D) Insecurity in feeling
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193. The objective of environmental
education is

edycation lie in ; ;
3 (A) Raise consciousness about
environmental education

(B) To teach environmentally
appropriate behaviour

191, Psychology's major contribution in

(A} Providing a scientific foundation

for the art of teaching

(B) Defining the goals on which the (C) Create an environmental ethic
that fosters awareness aboul
ecological inter-dependence of
(C) ldentifying potentially successiul economics, social and political
(D) All of the above

teacher should strive

educational procedures
(D) Comparing the relative 194. Which of the following is not
influenced by human activities ?
(A) Depletion of ground water
(B) Destruction of mangroves and

effegtiveness of various teaching

procedures

192. Education psychology is onented wetl.ands
_ (C) Increased extinction rate of
towards species
(A) The study of the peculiarities of (D) None of the above

individual children . _ L
185. Environmental education 1s important

(B) The application of the principles only at
(A) Primary school stage

(B) Secendary school stage
(C) Col!age stage
(D)

and technigues of ;}sychuiogy 10

the solution of the problems of the
classroom
All stages
(C) The farmulation of hypothesis and
Which one of the following is a

thecries relative to educations | 196.
fundamental right ?

practice r
(A) Right to freedom of religion
(D) Thedevelopment on the part of the (B) Right to property
child of realistic goals and effective (C) Right to work

plans for their attainment (D) All of these




197.

198.

Ax

According to Act 28, which type of
education is resisted in educational

institution ?

(A) Education of specific religion
(B) MNavy education

(C) Moral education

(D) Sex education

Indian Constitution guarantees fo
(A) Fundarenta] duty

(B) Fundamental right

(C) Both (A) and (B)

(D) None of these

200.

¢
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199. Separation of freedom from the State

means

(A)
(B)
(©)

(2)

Socialism
Democracy
Secularism

All of the above

Coercion means

(A)
(B)

(C)

(D)

Freedom to speer.:h
Freedom to religion
Force someone to do something

All of the above
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SECTION - A
i) General Awareness

The term ‘epicentre’ is associated with 8. In the context of Indian wildlife, the
' flying fox is a
(A) Earthquakes )
(A) Bat (B) Kite
(B) Volcanoes
_ {C) Stork (D) Vulture
(C) Cyclones
(D) Landslides 7. Indira Gandhi Centre for Atomic
Research, Kalpakkam is located in
Garba is a dance form of (A) Karnataka
(A) Gujarat (B) Tamil Nadu
(B) Rajasthan (C) Andhra Pradesh
(C) Orissa (D) Kerala
(D) Assam
8. 'Queensberry Rules’ is the name
iven to the rule in
Where 4re the traces of Portuguese 2 .
culture found in India ? {A). Fockey (B) Cricket
(A) Goa (C) Tennis (D) Boxing
B Reznikode 9. Which of the following awards is
(C) Kannur given by UNESCO to those who
(D) Kochi popularize use of science life 7
(A) Booker Prize
Which is the capital of Gujarat ? (B) Magsaysay Award
(A) Shillong (C) Kalinga Award
(B) Gandhinagar (D) Kalidas Samman
(C) Jaipur
(D) Ahmedabad 10. DTAA stands for
(A) Direct Tariff Avoidance Agreement
Who was the first President of India ? (B) Double Taxation Avoidance
(A) Dr.Babu Rajendra Prasad Agreement
(B) R.Venkatraman (C) Direct Taxation Avoidance
Agreement
(C) JawaharlalNahin: (D) Double Tariff Avoidance
(D) Hamid Ansari Agreement
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1.

12,

13.

14.

15.

Which was the first private bank to
introduce a debit card in India 7

(A) SBM
(B) SBI

(C) IcICH
(D) HDFC

Which one of the following petroleum

refinery products has the lowest

boiling point ?

(A) Kerosene

(B) Diesel

(C} Gasoline

(D) Lubricating oil

4
Which one of the following is the first
National Park established in India ?

(A) Bandipur
(B) Corbett
(C) Velavadar
(D) Periyar

The function of DNA in the body is

(A) To help in the synthesis of
proteins

(B) To control the heredity
(C) To assistin the release of energy
(D) None of these

Which of the following is called a ‘red
plangt’ 7

(A) Pluto
(B) Venus
(C) Jupiter
(D) Mars

JDD-14/SPEDT/X-14

16. Hippophobia is the fear of which
animal 7

17,

18.

18,

20.

(A)
(B)
(C)
(D)

Lion
Horse
Tiger
Fox

Which event brought about a f

profound change in

Ashoka's

administrative policy 7

(A)
(B)
(C)
(D)

The Third Buddhist Council
The Kalinga War
His embracing of Buddhism

His sending of missionary to
Cevylon

Who wrote national anthem of India ?

(A)

B.G. Verghese

(B} B.C.Chatterjee

(C)
(D)

Dronacharya award is given for
excellence in i

(A)
®)
(©)
D)

Aravind Adiga |
Dr. Rabindranath Tagore

Literary work

Sacial science
Coaching in sports |
Journalism

World Ozone Day is observed on
16 1 Sep.
16t Oct. |
161 Nov. :
|

(A)
(B)
(C)
(D)

26 Sep.
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ii} General Intelligence and Reasoning Ability

Ramu has 60 one rupee currency
notes which bear numbers in order.
If the number of the first note is 7575,
find the number of the last note.

(A) 7635
(B) 7632
(C) 7633
(D) 7634

What number should come next in this
given series ? F2, 7, D8, C16, B32

(A) A18
(B) E4
(C) G4
(D) B8

What number should come naxt in this
series 7 U32, V29, 7, X23, Y20

(A} W17
B) Z17
(C) W28
(D) Z26

Cloth is to Meter as Sugar is to
(A) Chain

(B) Gallon

(C) Kg

(D) Litre

Find the odd man out :
225, 400, 36, 35

(A) 225

(B) 400

(C) 35

(D) 36

286.

27.

28.

29,

30.

A book contains 50 leaves. On each
page, there are 20 lines and in each
lines, there are 10 words. How many
words does that book contain 7

(A) 10,000
(B) 15,000
(C) 20,000
(D) 30,000

What number should come next in the
series 7 1000, 200, 40, 7

(A) 8
(B) 10
(C) 15
(D) 20

Doctoris to Medicine as Teacheris to
(A) Books

(B) Education

(C) School

(D) Teaching

Raghav is 8" from the top and 28t
from the bottem in the class. How
many students are there inthe class ?

(A) 33
(B) 36
) 34
(D) 35

Find the odd man out ;

5000, 220, 3779, 542

(A) 5000

(B) 220 "
(Cy 3779

(D) 542

|
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32.

33.

34.

How many meaningful five letter
English words can be formed with the
letters MASTE using each letter only
once in each word ?

(A} None (B) One
(C) Two (D) Three

Three of the following four are alike
in & certain way and so form a group.
Which is the one that does not
belongs to that group ?

(A) 63 (B) 48
(C) 24 (D) 42

In a certain code SAFER s written as
5@3#2 and RIDE is written as 2€°4#.
How iSRFEDS written in that code ?

(A) 3#©5
(B} 3@%5
(C) 3#%5
(D) 3#%2

Shalini walked 15 m towards South,
tock a right turn and walked 3 m. She
took a right turn again and walked
15 m before stopping. Which direction
did Shalini face after stopping?

(A) West (B) South

(C) East (D) MNaorth

Three of the following four are alike
in a certain way and so form a group.
Which is the one that does not belong
to that group ?

(A) Mars
(B) Earth
(C) Moon

(D} Venus

36,

37.

38.

39,

40,
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How many such digits are there in
the number 9254716 each of which
is as far away from the beginning of
the number as when the digits are
rearranged In ascending order 7

(A) None
(B) One
(C) Two
(D) Three

Find the correct alternative for the
guestion mark: 9,11, 20, 31, 7, 82
(A) 71 (B) 50

(C) 51 (D) 41

Among B, F, J, Kand W each having
a different weight, F is heavier than
only J. B is heavier than only J. B is
heavier than F and W but not as
heavy as K. Who is the third heavjest
among them ?

(A) B (B) F

C) K (D) W

In a certain code TRIED is written as
‘5631268" and ORBIT is written as
73215 How is BORE written in that
code 7

(A) 9732

(C) 9372

(B) 9832
(D) 9532

Three of the following four are alike
in a certain way and so form a group.
Which is the one that does not belong
to the group ?

(A) 14 By 18

(C) 24 (D) 36
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iii) Arithmetical and Numerical Ability

41. 63+ 4(0.0049) 46. 1f32= (V2 ) therefore x =
(A) 1.285 (A) &
{B) 900 B) 7
(C) 90 (C) 8
(D) 12.85 (D) 10
42. lf x+y=2=-3 then y2+x2 =7 N s
4? ppol Tyl Y W
(A) 9 CHily " : 5 .
= } ———
5 9 3 44
© 3 @ : 1
© = {B)
54 24
43. (8% =
(A) 188 48. V(0.36+0.16+0:48)=7
(B) 324 (A) 0.1
(C) 1296 (B) 1
(D) 46656 (C) o
(D) 1.1
44. A reduction of 10% in the price of rice
enables a person to obtain 22 kg 49. 9992 +2(999) + 1 =7
more for Rs. 250. What is the original .
price of rice per kg ? (A) 1000
| (A) 7 (B) 10000
f (B) 28 (C) 998
(C) 1.24 (D) 1000000
. (D) 1.4
' o {505z GG
45. (54)= 0. &) 21/ 22 5) |2
(A 63 5 MR
(B) 346 (B) 0
(C) 4+2 (C) 10
(D) 3+18 (D) 100
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52.

33.

54.

If a cycle is sold for Rs.1,120, profit
earned is 40%. At what price should
it be sold so as to earn a profit of 0% ?

(A) Rs. 1,320
(B) Rs. 1,180
(C) Rs. 1,280
(D) Rs. 1,280

The profit earned after selling an
article of Rs. 625 is the same as the
loss incurred after selling the article
for Rs. 435. What is the cost price of
the article ?

(A) Rs.540
(B) ¢ Rs. 550
(C) Rs. 530
(D) Rs, 520

Arun sold an article for Rs. 460 and
earned a profit of 15%. At what price
should it be sold so as to earn a profit
of 20% ?

(A) Rs. 500
(B) Rs.490
(C) Bs. 460
(D) Rs. 480

A shopkeeper sells 200 meters of

cloth for Rs. 9,000 at a profit of Rs. 5

per meter. What is the cost price of

1 meter of cloth ?
(A) Rs.30
(B) Rs.35
(C) Rs. 40
(D) Rs.45

Sa.

o6,

57.

58.

59,

60,
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A shopkeeper claims to sell his
articles at a discount of 10% but marks
his articles by increasing the cost of
each by 20%, what is his percentage
gain 7
(A) B% (B) 10%
[C) 6% (D) 12% .
Gulabchand whose salary is
Rs.1,000 per month, receives an
increase of B%. What Is his new
salary ?
(A) 1,080
(B) 1,012
(C) 1,800
(D) 1,096
60is 12% of ?
(A) 300 (B) 400
(C) 500 (D) 25
8% of Rs, 400 =7
(A) Rs.32.00 (B) 3,200.00
(C) Rs.50.00 (D) Rs.4.00
Find the least number by which when
128 is divided it becomes a perfect
square.
(A) 2 (B) 8
(C) 16 (D) 4
Find the least number which when
added to 624 makes it a perfect
square,
(A} 3
(B) 2
(C) 5

(D) None of these
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% iv) Testof Language : Hindi

Tt wiier ;

61, FRABRBUGTIT RO | g4, o Forrm vl R
(A) THERR (A) BT
(B) T (B) T
©) e (C) &AT
(D) =mefEk (D) THaa
62. %aﬁfm% B5. TrEl HIFEE |
(A) T (A) daHEH
(B) T B) FFTH
(C) el (C) T E=
(D) gt (D) el
63. Tefafeaddmataws=t 66, qUEfE FT IR
(A) 33T (A) T
(B) Tigmm OEEGES
(C) fErm (C) ¥ He
(D) deE (D) R
Ax -16-




67.

68.

69.

70.

I T YEE S WeE T

(A) 9F7h WA AT R

(B) % L H Farfe ot g 2
(C) T % 370 ¥ &18 AR FT 2

(D) 9% 5a # gifet s B 2
qrer w1 faoardes yrea 2

(A} &/

(B) T

(C) e &

(D) e

21eff 1w e w9
(A) EA

(B) e

(C) af

(D) wmETETd

TEETR
(A) &%
(B) =g
(C) =re

(D) =2

7.

7

73
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e =1 Iy 2

(A) Tl

(B) Mg
(C) ZIATH !

(D) =TT

S EI R

(A) ITHIHAH =BT
(B) 37! TAH 7501 &
(C) I T 2T &

(D) Feh! Ham oTee 2

TEET R
(A) T R | |
(B) I WA e 1

(C) 3w w1eeg 5|

(D) 38 JAEE e '




74.

75.

76.

(A) = FoE

(B) Iowfam

€y Fsmmfug

(D) i g

AT | ST AT R G ST 08 A
T BT 9 2

(,e:a.}“.I w4 form

(B) iferm

(C) =reafamm

(D) form

qfer wse %1 v e o

Vi)

78.

s

80.
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fe=dt o ==
(A) T8

(B) @H%
(C) wm#E2
(D) =mE

R | Aifer 8 |
(A) wErE

(B) =i

(C) T

(D) H

ST ST el 8 SEers o 7 |
(A) & TR e 8

(B) TRIA A TAR

(C) TRATH T2

(D) =18 =T BE) I T SR 2

i R
(A) ==
®) &

(C) =

(D) =

N
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v) Test of Language : English

WTHT OTeTon @ SIS
81, | would have bought that pen if it 84. Lastyear my sister his M.A.
not been so expensive.

(A) passing
(A) has

(B} pass
(B) had

(C) passed
(C) have

(D} had passed
(D} having

82. |am & this examination in
the hope of getting the job.

(A) having
(B) giving
(C) taking
(D) sitting
83. | could not open the lock because
I the key.
(A) lose
(B) had lost

(C) losing

(D) lost

85.

86.

Her shoes as she walked

along the street.
(A) noised

(B) creaked
(C) squeaked

(D} lose

Some new bridges are

the river.

(A) building
(B) build

(C) being built

(D) built

an




87.

88.

89.

90,

Itis high time you this

place.

(A) leaving
(B) leave
(C) |eft

(D) have left

None of the player injured.

(A) is

(B) was
(C)% were
(D) has

Two dozen oranges only
five rupees.

(A) cost
(B) costing
(C) costs
(D) costed

Earthguake ten houses,
(A) destroy

(B) destroyed

(C} destraying

(D) was destroyed

a1,

92.

93
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| your proposal and regret

| cannot accept them.
(A} studying

(B) study

(C)  have studied

(D) studied

| always trouble with my

car these days,
(A) having
(B) have

(C) had

(D}  has

She before the idol when

she visited the temple.
(A) kneel
(B) knelt

(C) kneeled -

(D) all are incorrect




94,

95.

g6,

g7.

He was very quickly

when | met him yesterday.
(A) -walk

(B) walked

(C) walking

(D) walks

We tennis yesterday if it
has not rained.

(A) played

(B) would plgyed

(C) would have played

(D) playing

The teacher made him

the exercise.

(A) repeating

(B) repeats

(C) repeated

(D) repeat

Boil the milk otherwise it will
bad.

(A) get

) go

(C) grow

(D) will

-

99,

100.

were knocked down by a truck,

(A)
(B)
(C)

(D)

JDD-14/SPEDT/X-14

98. Two girls were

were waiting

waiting

walited

were waited

| trust that you will

promise.

(A)

(B)

(C)

(D)

agree

let

keep

retain

You are supposed to

(A)
(B)
(C)

(D)

stopped
stopping
stop

none of these

for a bus

your

here.




101,

102.

103.
|

104,
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Post Specific Subject-Related Questions

The first generation learner may
experience the greatest difficulty with

(A)  Writing in worksheets

(B) Self-study

(C) Long answer questions
(D) Learning the first language

Child Labour Prohibition Act, (1986)

(A) Prohibits all types of child labour
up to 14 years of age of child

(B) Prochibits child labour in
risk-taking works only

(C) Prohibits child labour during
& school hours anly

(D) Prohibits child labour by
imposing the responsibility of
children's education on the
employers

The creative leamer refersto one whois

(A) wvery talented in drawing and
painting

(B) highly intelligent

(C) capable of scoring consistently
good marks in tests

(D) good at lateral thinking and
problem selving

The children of 6-11 years become
proportionately thinner because they

(A) Do a lot of exercise

(B) Gain height during period
(C) Eatjunk food

(D} Walch a |ot of television

105.

1086.

107,

108.

Ratheesh, 19 year old child,
misbehaves in the class. What should

‘the teacher do ?

(A) Informthe parents
(B) Punish

(C} Counsel

(D) lgnore

Individual learners differ from each
other in

(A) Principles of growth and
development

(B) Rate of development
(G) Sequence of development

(D) General capacity for
development

According to the Right to Education
Act, admission of children to a
particular class has been proposed
to be on the basis of

(A) Ability of the child
(B) Age of the child

(C) Socic-economic status of the
child

(D} Education of the parents

Children coming from the families of
first generation learner should be

(A) Sentto special school
(B) Educated in regular schools
(C) Made to repeat the class

(D) Grouped together in class
activities




108.

110.

111,

112,

Heredity is considered as a social
structure

(A)
(B} Secondary
(C)
(D)

Primary

Dynamic
Static

Centrally sponsored scheme of
Integrated Education for Disabled
Children aims at providing
educational opportunities to children
with disabilities in

(A)
@)
(C)

(D)

Regular schools
Special schools
Open schools

Blind Relief Association schools

Dyslexia is a
(A)
(B)
(C) Genetic disorder
{D) Mental disorder

Behavioural disorder

Neurological disorder

Which of the following is not a sign of
reading difficulty among young
learners ?

Difficulty in
(A)
(B)
(C)
(D)

Letter and word recognition
Reading speed and fluency
Understanding words and ideas

Spelling consistency

113.

114.

115,

116.

4
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Which of the following is not the
characteristic feature of intrinsically
motivated children 7

(A)
(B)
(C)

They always succeed
They enjoy doing their work

They display a high level of
energy while working h

(D) They like challenging tasks

The statement ‘Men are generally
more intelligent than women’

(A) Istrue

(B) May be true

(C) Show gender bias

(D) Is true for different domains of

intelligence

Charry took her class for a field trip
and after coming back, she discussed
the trip with her students. It may be
connotated as

(A)
(B)
(C)
(D)

Assessment of Learmning
Assessment for Leaming
Learning for Assessment

Learning of Assessment

The best method of checking
student's homework is

(A) Toassignittointelligent student

of the class

(BY To check the answers in the

class in group manner

(C) To check them with the help of

spe cimen answer -

(D)

To check by the teacher himself
in a regular way




17.

118.

i3>

120.

The priority to girls education should
be given because

(A) The gitls are more intelligent in
comparison to the boys

(B) The girls are lesser in number

than boys

(C) The girls were badly
discriminated in favour of boys
in the past

(D) Only girls are capable of leading
for social change

The success of integrated education
depends on

(A) & The support of community
(B} The excellence of text books

(C) The highest quality of teaching
learning material

(D) The attitudinal changes in
teachers

The idea of Basic Education |s
propounded by

(A) Dr. Zakir Hussain
(B) Dr. Rajendra Prasad
(C) Mahatma Gandhi
(D) Rabindranath Tagore

The best remedy for the student's
problems related with learning is

(A)  Suggestion for hard work
(B) Supervised study in library
(C) Student achievement level

(D) Diagnostic leaming

121.

122.

123.

124,

125.
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Custom 1s an important

(A) Social control

(B) Social institution

(C) Way of political behaviour
() Way of thinking of Marxists

Main function of religious structure is
(A) Replacement of population
(B) Socialization of new population

({C) Maintenance of a sense of
purpose

(D) Production and distribution of
goods and services

Function of educational structure is
(A) Replacement of population
(B) Socialization of new population

(C) Maintenance of a sense of
purpose

(D) Systern maintenance

The state is a National [nstitution, was
maintained by

(A) T.H.Green

(B} Herbert Spencer
(C) Aristotle

(D) Plato

Social equality is supported by
(A) Marxism

(B) Capitalism

(C) Domestic Institution

(D) Socialism

|




126.

127.

128.

| 129.

The fundamental unit of human society
is known as

(A) Social group
(B) Tribal group
(C) Individual
(D) Family

What is the nature of man, according
to Aristotle 7

(A) Social
@) * political
(C) Cultural
(D} Religious

A school is a miniature
(A) State

(B} Society

(C) Family

(D) Qrganisation

Which aim of education is most useful
for the community 7

(A} Cuttural
(B) Livelihood
(C) Socialization

(D) Technological

130.

131.

132.
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National Policy on Education (1986)
makes a recommendation (8.1) that
“The existing schism between the
formal system of education and the
country’s rich and varied cultural
fradition needs to be bridged”. This
assumes that

(A) Thereis a social and cultural lag
in Indian society

(B) There s insufficient progress of
education in India

(C) There is enough socio-cultural
progress in India

(D) There is great need for social
change in India

General Psychology and Educational
Psychology are dissimilar, in that
Educational Psychology

(A) Is concerned with the child and
not with the adult

(B) Is concerned with the various
aspects of learning

(C) Deals only with the applications
and not with the theary

(D) Selects and emphasise certain
data from general field

Educational Psychology is branch of
Psychology. Psychology is a science.
Who is the father of experimental
Psychology 7

(A) Boring
(B) Hull
(C) Wundt
(D)} Tolman




T

133.

134,

135.

1386.

A

Which method has made Educational
Psychology a science ?

(A) Observation method
(B) Clinical method
(C) Survey method

(D) Experimental method

The oldest method in Psychology is
(A) Introspection

(B) Observation

(C) %Case study

(D) Clinical method

Name the method which deals with
only one person at a time and
promotes his adjustment

(A) Case study
(B) CQuestionnaire
(C) Clinical method

(D) Experimental method

Educational
concerned with

(A) The |learner

Psychology is

(B) The learning process
(C) The learning situation

(D) All of these

137.

138,

139.

140.
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The content of Educational
Psychology includes

(A) Special items concerning
teaching and learning

(B) Wide ranging items concerning
human motivation and learning

(C) Special items concerning’
processes of education in
particular

(D) None of these

The primary task of the teacher is

(A) To teach the prescribed
curriculum

(B) To stimulate and guide student
learning

(C) Topromote habits of conformity
to adults demands and
expectations

(D) Teo provide diagnostic and
remedial aid wherever indicated

The first step in conducting an
experiment is

{A) Tocollect data

(B) Tosetup alaboratory

(C) Toformulate a hypothesis

(D) Tointerpret data

Which of the following is the most

important factor underlying the

success of beginning teacher ?

(A) His personality and ability to
relate to the class

(B} His attitudes and outlook on life

(C) His verbal facility and
organizational ability

(D} His scholarship and intellectual
ability
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141. Which method of research 145, Who assumed that human motives
contributes most to the advancement are amanged in a hierarchy of potency ?
of Educational Psychology as a (A): Neal Miller (1958)
science ? (B) Janis and Mann (1977)
(A} Clinical method (C) Jerome Singer (1962)
(B) Experimental method (D) A.H.Maslow (1870)
(C) Historical method 146. According to Maslow, the
(D) Survey method self-actualizing tendency is
(A) Instinct
142, The overprotected child will tend to (B) Imprinting
o) Biagrassitaness (D) Deficiency motivation
(B) 'Defensiveness 147, A young woman who turns herself
(©)  Immataity into a religious worker has a strong
. (A) Approach gradient
(D) Negativism (E: SE:ial rnot?ve
, _ (C) Hyper vigilance
143. Dynamic Psychology is the (D) Encephalization
Psychology of
(A) Motivation and Emation 148. Motives can be
(B) Perception and Attention (A) Inferred from behaviour
(C} Learning and Memory {B-} Obsernved mre.c 0
_ _ | (C) Used to explain behaviour
(D) Personality and Intelligence (D) Used to predict behaviour
144. Both the terms “emotion” and 149, The “need for success”, “expectancy
“motivation” came from the same for suscess:‘ and the"incenti}f’e value
P of succaa_s’ are th{'ee motivational
factors which determine the strength of
(A)  Movement. (A} Sacial Motives
(B} Mave (B) Biological Motives _
(C) Moment (C) Personal Motives
(D) Movere (O) Achievement Nead




150.

151,

182,

Behaviour of the mentally ill persons
is greatly influenced by their

(A) Conscious motives
(B) Innate releasing mechanism
(C) Unconscious motives

(D) Fixed-action pattern

Physiologists use the term
homeostasis to describe the body's
tendency to maintain a balance or
equilibrium among its

(A) External physiological status
and environment

(B) Internal physiclogical status and
the environment

(C) Displacement behaviour and
encephalization

(D) Approach gradient and
avoidance gradient

The technique by which the strength
of need is measured in terms of
readiness with which a task is
learned under different conditions of
motivation is known as

(A)  Activity wheel
(B) Obstruction method

(C) The choice and preference
method

(D) Learning method

153.

184.

155.

158.
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An intra-organic activity or condition
of tissue supplying stimulation fora
particular type of behaviour is
known as

(A) Need
(B) Motive
(C) Drive
{D) Conflict

The goals which the person tries to
escape are called

(A) Positive goals
(B} Vectors
(C} Valences

(D) Negative goals

A person's need for feeling
competent and self-determining in
dealing with his environment is called

{(A) Intrinsic motivation

(B) Instinct

)
{(C) Imprinting
(D)

Coolidge effect

Curiosity comes under
(A) Social motives

(B) Personal motives

(C) Non-homeostatic motives
(D) Both (B)and (C)

Fa



157.

158.

189.

160,

161,

“Intrinsic Maotivation Theory” was
developed by

(A) Halow (1950)

(B) Sigmund Freud (1902)
(C) Mark and Ervin (1970)
(D) Dollard (1939)

Which one of the following is not a
psychological motive 7

(A) Need for achievement
(B) Need for affection

(C) Need for belonging
(D} Need for oxygen

4
An object or thing which directs or
stimulates behaviour

(A) Instinct (B) Incentive
(C) Need (D) Motive

A pituitary hormone associated with
the secretion of milk is known as

(A) Prolactin

(B) Adrenalin

(C) Estrogen

(D) Progesterone

The Constitution of India was enactad
by a Constituent Assembly set up

(A) Through a resolution of the
provisional government

(B) By the Indian National
Congress

(C) Under the Indian Independence
Act, 1947

(D}  Under the Cabinet Mission Plan,
1946

162.

163G.

164.

165.
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Who among the following was the
Chairman of the Drafting Committee
of the Indian Constitution ?

(A) Rajendra Prasad
(B) C. Rajagopalachari
(C) Tej Bahadur Sapru
(D) B. R. Ambedkar

Which of the following Act gave
representation to the Indians for the
first time in legislation ?

(A) Indian Councils Act, 1919
(B) Govt. of India Act, 1935
(C) Indian Councils Act, 1909
(D) Govt. of India Act, 1919

The idea of the Constitution of India
was first of all given by

(A) Dr.B. R. Ambedkar
(B) Jawaharlal Nehru .
(C) Shri M.N. Roy

(D) Mahatma Gandhi

The first session of the Constituent
Assembly was held in

(A) Bombay
(B] Lahore

(C) Caleutta
(D) New Delhi

A




166.

167.

168.

168.

Which of the following persons is not
part of an Individual Education Plan

team 7

(A) Parents of the child

(B) Regular education teacher of
the child

(C) Representative of the school
(B) (A (B), (C)

Which of the following conditions is
not among the primary reasons for
preschool children to be served by
special gducation providers ?

(A) Development delay

(B) Autism

(C) Speechand language impairment
(D) Spina hifida

Which of the following services is not
part of public health ?

(A} Vaccination clinics

(B) Outpatient therapy services
(C) Fluoridation of drinking water
(D) Workplace safety inspections

Regulation of health professionals

‘occurs at this level of public health

services

(A) International
(B} Federal

(C) State

(D) Local

170.
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Which of the following services is
considered part of the assurance
function of public health agencies 7

(A) Enforce sanitation laws

(B) Diagnose and investigate
infectious disease outbreaks

(C) Formation of community health
partnerships

(D) Develop policies that address
community health problems

Which of the following conditions is
not a high priority public health focus
area that can be addressed by
occupational therapists and physical
therapists 7

(A)  Arthritis

(B) Nutrition and overweight

(C} Knee ligament repair

(D) Chronic back condition

A teacher will become an effective
communicator if

(A) He uses instructional aids

(B) He helps students get meaning
out of what he teaches

(C) He asks questions between
teachings

(D) He helps students get correct
answers to the questions on the
tapic

A good teacher is one who is capable of
(A} Finishing the course in time

(B) Inducing the students to learn
(C) Giving a good result

(D) Helping students in preparing
good notes
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A student tries to solve a problem

without any help from a teacher. The

teacher should

(A) Advise him/herto take help from
his/her colleagues

(B) Pay no attention to hinvher
(C) Scold him/her for foolishness
() Appraise his/her individual effort

Which one of the following is an
indicative of the quality of teaching ?

(A) Period of maintaining peace in
the classroom

(B) Standard of guestions raised by
students in the classroom

(C) Standard of answers replied by
students in the classroom

(D) Pass percentage of the students

The main purpose of teaching is

(A) Development of thinking power

(B) Development of reasoning
power

(C) Bath (A) and (B)

(D) Giving information only

A teacher needs to study Philosophy

of Education because of

(A} Understanding theory inherited
in Philosophy

(B) Being acquainted with abstract
knowledge

(C) Setting aims and objectives of
curriculum

(D) Getting ideas to control
teaching behaviour

178.
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'Values are inherent in every human
being’ is reflected in

(A) Realism

{B) Pragmatism

(C) Naturalism

(D) Idealism

In a classroom, ideal situation is that
in which
1. The lecturer delivers his lecture
with full confidence as he
prepares himself for the lecture
before coming in the classroom.
2. Students come in the classroom
with full preparedness and
discuss with each other on the

subject in the presence of the
lecturer.

3. Lecturer and the students
discuss on the subject,

4. While delivering the lecture, the
lecturer uses audio-visual
means..

(A) 1and3
(B) 3and4
(C) Only2
(D) Oniy 4

In order to understand his students, a

teacher should be well versed in

which of the following ?

(A) Child Psychology

(B) Inclination towards
understanding the children

(C) Opinion of the students towards
the subject matter

(D) All of the above
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Which method of teaching
encourages the maximum use of
knowledge 7

(A) Problem Solution Method
(B) Laboratory Method

(C) Self-Study Method

(D) Team-Study Method

In which of the following important
features is a open book exam method 7

(A) Students remain serious

(B) 1t increeses attendance in the
class-room

(C) Hreduces the worry of sludents
related to examination

(D) It compels student for thinking

Effective teacher is
(A) Who has control over the class

(B) Who can deliver more
infarmation in limited period

(C) Who inspires students how to
learn

(D) Amends
assignment

carefully  the

Methods used to organize classroom
activities and instruction, creating a
happy and productive learning
environment are known as

(A) Co-operative learning

(B) Lesson planning

(C) Classroom management
(D) Method of loci

185.

188.
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According to your text, the best way
to reduce wasted class time is

(A) Squeezing more minutes of
instruction out of a classroom day

(B) Tohave all the lesson materials
ready to go

(C) To effectively communicate the
value of learning to students

(D} Tostart class promptly when the
bell rings

To maintain the momentum in the
classroom, the best thing a teacher
candois

(A) To provide frequent breaks in
the lesson, keeping task
engagement high

(B) Towalk around and engage the
students in their work

(C) To avoid interruptions or
slowdowns, keeping fask
engagement high

(D)  To have all the lesson materials
prepared in advance

According to studies of teacher's
actions, the most important time for a
teacher to define and implement his
or her classroom management plan

(A) ls during the first few days of the
school year

(B) Isrightafter report cards come out

(C) Atthe last day of each grading
period

(D) Is during the second week of
school, once the composition of
the class has stabilized
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Teachers can eliminate much routine
classroom misbehaviour without
breaking the momentum of the lesson

(A) By setting up a token economy
whereby students are rewarded
for staying on task

By the use of simple nonverbal

(B)

cues to students.

(C) By isolating  potential
troublemakers from the rest of
the cta‘ss

(D) By talking fast and moving the

lesson along

Which of the following is not a formal
assessment ?

(A) Assignment
(B) Paper

(C)
(D)

Quiz

Dscussion

Which of the following is not an
informal assessment 7

(A) Assignment
Observation
Rating scales

Discussion

191.
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Education ___explains the
gaining experience from birth through
old-age.

(A) Training

(B Philosophy
(C)
(D) Psychology

Programmer

According to human factor,
individuals may vary from
to day in their performance.

Day
Week
Year
Month

When a teacher is certified to teach it
doesn't mean his is
completed.

(A) Learning

(B) Education
(C)
(D)

Training

Planning

The staff should examine the
programme continuously with the
of the principal.

Administration

(B) Supporting
Helping
Leadership
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The current view of childhood
assumes that

(A) Children are similar to adults in
most ways

(B) Children are best treated as
young adults

(C) Childhood is basically a
“waiting period”

(D) Childhood is a unique per‘md of
' growth and change

Creative writing should be an activity
planned for "

(A) Only those children reading on
grade level

(B) Only those children who can
spell and also, can write
cohesive sentences

(C) Only those children who want to
write for the newspaper of the
class

(D) All children

The normal twelve years old child is
most likely to

(A) Have difficulty with gross motor
coordination

(B) Have anxiety feelings about
pleasing adults

(C) Confine his/her interests to the
' here and now

(D) Be eager for peer approval

198.
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The reason why students run from
school is

(A) Lack of interesting class
teaching work

(B) Lackofinterestin studies on the
part of students

(C) Not giuin_g punishment to
students

(D) Callous attitude of teachers

towards the problem

You find a student to be intelligent.
You will

(A) Remain pleased with him

(B) Not give him additional
homework

(C) Motivate him so that he can
make more progress

(D) Inform his parents about the fact
that he is intelligent’

The term ‘identical elements’ is

closely associated with

(A) Group instruction

(B) Transfer of learning

(C) Jealousy between twins

(D) Similar test questions
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IMPORTANT INSTRUCTIONS TO CANDIDATES
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‘This bookiet contains 48 pages.

Please check all the pages of the Booklel
carefully. In case of any defect, please ask
ihe [nvigitator for replacement of the Booklet.

Directions : Each guestion or incomplete
statemeni is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and blacken (@) appropriate
circle A, B, C or D by Blue / Black Ball-Pont
Pen against the guestion concerned In the
Answer-Sheet. (For V.H. candidates
carresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each question. The circle should
be shaded complglely without leaving any space.

The correct method of shading is given balow.

Wemos Method || Wiong Method || Wirseg Methed ‘Comect Methad
DROOIOE0CICeOS|IOe DT

The Candidate must mark h'is,mer-response

after caraful consideration.

There is only one correct answer to each
guestion. You should blacken (@) the circle
of the appropriate column, viz,, A, B, Cor D,
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that black
mark in the circle in the Answer-sheet, and
then blacken the circle of revised response.

A machine will read the coded information
in the. OMR Answer-Sheet. In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

Use the space for rough work given In the
Guestion Booklet only and not on the
Answer- Sheet.

You are NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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